SAP ABAP table TICLOOS5 {Internal Claim Type: Permitted Subclaim Type}
TICLO05-EXP BENTYPEGRP = ICL. CBENTYPEGRP-BENTYPEGRP

- - - == ICL_ CBENTYPEGRP
T "~ | CLIENT[CLNT (3)]
. BENTYPEGRP [CHAR (10)]

Y TICLOOS-CLIENT = TO00-MANDT TO0O

P

/ -7 MANDT [CLNT (3)]

, e TBRF150

/ -7 CLIENT [CLNT (3)]

/ 7 ~ _ IMPORT_STATUS [CHAR (1)]

APPLCLASS [CHAR (30)]

EXPRESSION [CHAR (20)]

VERSION [NUMC (4)]

TICLOO3
CLIENT [CLNT (3)]
CLTYPE [CHAR (4)]
GENERAT [NUMC (5)]
VERSION [NUMC (5)]

TICLOO4

7 | CLIENT [CLNT (3)]
SUBCLTYPE [CHAR (4)]

TICLO11
0.N | CLIENT [CLNT (3)]
0--N I CITYPE [CHAR (4)]
VERSION [NUMC (5)]

0.N TICLO20
0.N "c[JENT[CLNT (3)]
0..N [RESTYPE [CHAR (2)]

____________ TICLO55

0. N | CLIENT [CLNT (3)]
BENTYPE [CHAR (10)]

TICL160
CLIENT [CLNT (3)]
BENTREE [CHAR (8)]
VERSION [NUMC (5)]




